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The graph of f is given.

(a) Why is f one-to-one?

(b) What are the domain and range of f'?
(c) What is the value of f~'(2)?

(d) Estimate the value of £~'(0).
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(a) f is 1-1 because it passes the Horizontal Line Test.
(b) Domain of f = [—3, 3] = Range of f~*. Range of f = [—1,3] = Domain of f~*.
(c) Since f(0) =2, f~4(2) = 0.
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Look up solutions on...

See 6.1 Review
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Sec 6.2 RQ_V] ew Look up selutions on..
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SEC 6.3 Re_vie_w Look up selutions on ..
* Memorize £ Iﬂ(x)z 4 then X = ed PF 413
* Memorize If x=|ed then Udn (x)=y
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Sec 6.6 Review

Look up solutions en..

3 ) _ < 3 - 3 _ 2 P% 142147
;&(s.n x)=| cos %< ) T.&CC"S x)=| - Lin X ;(;Gﬂ“ x) = GECKD (Sec 2.4)
ls stn™'X —+he sawe as < ? oN : rrsuy P7 474
1 X
* The dowan o arctan X) is all veal
all ‘mSSIlpla ln?u\‘S

. The 'mr\o\aa (rnmae) 0‘F avctan k) is

al\ ?aS&i ble ovr+'l>w+5

- Sketch the graph of Y= tan(x) Pr -T Lx

“£.%)

and  the oy Toph of Y= acc tan ()
o i grctan () =| —~ T Lim  prctan (<) =| T 9 473
X—> 00 2 X—> 0 2
Use '(M?lid'l' diffeventiation o covv\'Fu'}e _,‘L ayctan (X) Lecture
notes 6.6
Express %'-5" Tn terma of %
Let y= arctan 0O P %
Lan (D= x
Iw\?ltr_'rl- bi fferestiation \f%v]ﬁj
= (.{;‘,M 37 = ,"L(X) Recall
) !} j\gb«me:@u@ tos y = :i _ f
(secy) d9 _ T JTF <%
qx
dy |
Tx  (sec9) (tosy?, Py H—x’-
* (o of B eyt
() | ex2 - arc{nn(xv} T T




SEC G.é RQ_V] ew Look up so lutions on ..
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Sec 6.2 Review
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